S3 Table. Reaction list 2. It contains the list of reduced 28 reactions for mammalian CCM pathway
under consideration. Here the reaction numbers correspond to the same serial numbers in S5 Table.
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Glucose + ATP = a-D glucose 6P + ADP

a-D glucose 6P = B-D fructose 6P

B-D fructose 6P + ATP = §-D fructose 1,6 P, + ADP
B-D fructose 1,6 P, = D-Glyceraldehyde 3P + NADH
D-Glyceraldehyde 3P = Glycerate 2P

Glycerate 2P = Phosphoenolpyruvate (PEP)
Phosphoenolpyruvate (PEP) + ADP = Pyruvate + ATP
Pyruvate = Acetyl-CoA

Pyruvate = Oxaloacetate

. Oxaloacetate = PEP

. Oxaloacetate + Acetyl-CoA = Citrate

. Citrate = Succinyl-CoA + NADH

. Succinyl-CoA = Oxaloacetate + NADH + GTP (ATP)
. Oxaloacetate = Succinyl-CoA

. D-Glyceraldehyde 3P = -D fructose 1,6P;

. PEP = Glycerate 2P

. Glycerate 2P = D-Glyceraldehyde 3P

. B-D fructose 1,6 P, = (3-D fructose 6P

. B-D fructose 6P = «a-D glucose 6P

. a-D glucose 6P = Glucose

. Pyruvate + NADH = Lactate

. Pyruvate = Alanine

. B-D fructose 6P = (3-D fructose 2,6 P,

. B-D fructose 2,6 P, = (-D fructose 6P

. a-D glucose 6P = 6-phosphogluconate + NADPH
. 6-phosphogluconate = D-ribose-5P + NADPH

. D-ribose-5P = B-D fructose 6P

. D-ribose-5P = D-Glyceraldehyde 3P




